
Standard Packing List Clinic 
Page 1 

DESCRIPTION QUANTITY Check 

Sidecar tube 2  

Front wheel  tube 2  

Rear wheel tube 2  

Side car tyre 1  

Tread Depth Gage 1  

Spark Plug 1  

Air Cleaning Element 1  

Drive Chain 1  

Clutch cable 1  

Accelerator cable 1  

Speedo cable 1  

Head Light bulb 1  

Led Flasher Unit 1  

Indicator Flasher unit 1  

Fuse 2  

Indicator lamp (ones removed front and rear if removed) 1  

Bearing Kit (seal, inner and outer bearing, cap, grease pouch)(new Style) 1  

Nodlock (new Style 16mm) or  Lock Washer  (old Style)   2  

Front suspension Vasconite bush  2  

Front Suspension Stainless Steel Bush 4  

Funnel Large (for Oil)  1  

Funnel Small  (that will fit into battery ) or Acid dispensing bottle with sticker 1  

Compressor Pump 1  

Puncher Kit 1  

Bike tool Kit ( screw driver plug spanner) 1  

Set of pliers 1  

Tyre lever 2  

Open End Spanner 8 1  

Open End Spanner 10 1  

Open End Spanner 12 1  

Open End Spanner 13 1  

Open End Spanner 14 1  

Open End Spanner 15 1  

Open End Spanner 17 1  

Open End Spanner  18 1  

Open End Spanner 19 1  

Open End Spanner 24 1  

Set of Alan Keys 1  

Cable Ties Medium 10  

Gazebo 3x3 with bag 1  

Gazebo roof 1  

Gazebo sides  4  

Gazebo sides carry bag 1  

Welch Allyn portable diagnostic set (optional in SA) 1  

 Mechanical baby scale 1  

Dual head Stethoscope (optional in SA) 1  

Digital infrared non-contact thermometer (optional in SA) 1  



Page 2  
 

Welch Allyn aneroid Sphygmomanometer (optional in SA) 1  

Fold up chairs 2  

15l water carrier 1  

Mechanical adult floor scale 2  

Rain suit  1  

Vest  1  

Jerry can `` 1  

Parts Manual Frame 1  

Parts Manual Engine 1  

Operators Manual 1  

Set of Warranty books 1  

Helmets Open faced  1  

Helmets  Closed faced 1  

Padlocks 3  

Bike Stand 1  

M10 x 40mm bolt 2  

M10 washers 2  

M10 nylocks 2  

M8 x 40 bolt 2  

M8 x 40 button head 2  

M8 washers 2  

M8 nylocks 2  

M6 x 20 cheese head  2  

M6 washer 2  

M6 nylocks 2  

Original Front tyre 1  

Original Rear tyre 1  

Left Mirror 1  

Right mirror 1  

 

 


